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B. Com. 3rd Semester (Hons,) w;e.f.
Academic Session 2015-16 onwards
(Current Scheme)
Examination - Noveniber, 2017

COST ACCOUNTING
Paper : BORN:3.03

Fime : Three Hours | [ Maximum Marks : 30
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Note : Attefapt five questions in all, by selecting one
gqueaiont from  each Unit. Question No.o 1 s
comgmisory. All questions carmy eqqual marks
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1. Explain the following in brief 2-8=18
frfatan @ w@@u 3§ et @i .

(a) Two difference between Cost & Conting
arm wd oftam & 9 w=w

(b) Prime Cost.
il

(¢c) Owvertinmw.

Nﬁ’ﬂ"ﬂl
(d) Apportionment 0f Overheads.
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(¢) Log Book
SR L2

(f) Membrandom Reconciliation Account.

WITH G0N W)

{g) Costplus Contract

WY @ 2

(h} Abnormal Effectiveness
HEHT 99
UNIT - |
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2. What is Cost Accounting ? Explain its objectives &

advantages I

A AETEA w4 R 7 e Tied od Al & A e

3. Explain the tollowing

= e S

ia) A,B,C Analysis, a8
¥ 4, 7 o
(b) Perpetual Inventory Sysfiym A
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4. What is absorpbion of ov erheads ? Discuss the vanous

methOds of absorption of Factory Overheads. 16

wifrsd & wad & R 7 svaen stam § sEe
#1 fate= fafedi e,

Calculate the total eamings & camings per hour of
three operatives X, Y, & Z under the Rowan Premium
Bonus Svstem and Halsey Premium Bonus System, the
Bonus being calculated at 50% of the time saved. The
standard ime for producing one dozen afpchss in 20
hours. The hourly rate of wages is Rs. Kt {he actual

time taken was X-16 hours, Y-12 hrs & 200 hrs 16

dm mreh X, ¥ sl 2 W e ofoeE ool wm
qftefis e gk fafe qor ovm A wf @ s
am HP wta @@ AR @ 50% oo B 0%
ot @ | oS w0 W e w20 v By
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The following data of a Factory for 2016 are given

Materigl msed € 75,000, Direct wages T 50,000 variable
produciion exps T 100,000, variable selling exps t
2,000000, Fixed exps T 75,000 total output 50,000 units
& sales T 600,000 It is anticapated that in 2017 (i)
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Factory will produce, 100,000 units (13) Cost of material
will increase by 33 '» (iii) Rate of variable selling exps
will group by 25% due to increase in rate of commission
o salesman_ If the same rate of Profit on sale is to be
maintained at what it was in 2016, what wouldbe the
selling price per unit in 2017 ? 16
2016 @ & Ao 0% wew % Fa owiE B o B
JgEm % srd sl 75,000 T, @@ S9EA 50,000
ofrafadm Ime @m 100000 sl Bma a=m
2.00,000 T F@ F7 75000 2, FF JRET 50,000 FEIA
mm fawT 6,00,000 T T@ s |/ kBB 2017 F ()
ETEA 1,00,000 THER = PEST TIW (i) "R &
g 33 L A owg Am Gl EsEemolt @1 whew @ o1 d
gz # @ dftetaAe PR T @ 25 @ gl @
2017 & of gad fawn ser v @ wfen A O@ swn

@ m A B Awg W A @ a7 af Tl A A 2016
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7. State the reasand [or disagreement between ﬂ\;mﬁng
& financial gestiits. Prepare an imagimary reconciliatbion
statement, 16
A pd fefn WAl A A & s & W oW A
fifws & A & A $0 gu 0% e e SR

UNIT - IV
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8. A firm of building contractor began to wale on st
April, 2015 the following was the expenditure on a
contract for Rs. 3,00,000 - Material issuéd b contract
SLO0O, plant used for control 15,000 wages in carried
81,000, other exps, 5000. Cash recefeed on a/c upto
31st March, 2016 amounted to Rs. 1,282,000, being B0%
of the work certified. Of the Plasit & materials charged
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1s contract Plant which cost ¥ 2080 and matenal costs ¢
2,500 were last on 31st Mgrck 2016 Plant which cost ¢
2,000 was returmed to stores, iNe cost of work done but
unsullied was ¥ 1,000 & magerial worth Rs. 2,300 were

in hand at site 16
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e IR 2500 T @ monht @ g, 31 oad, 2016 W
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9. Define & explain the term Joint Product’ & By

Product’ Enumerate the methods which mayv be

employed in costing joint products 16
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